
SAP ABAP table BAPI_PHYSINV_ITEM {BAPI Communication Structure: Item of Phys. Inv. Doc.}

BAPI_PHYSINV_ITEM

MATERIAL [CHAR (18)]

PLANT [CHAR (4)]

STGE_LOC [CHAR (4)]

BATCH [CHAR (10)]

SPEC_STOCK [CHAR (1)]

STOCK_TYPE [CHAR (1)]

SALES_ORD [CHAR (10)]

VENDOR [CHAR (10)]

CUSTOMER [CHAR (10)]

BASE_UOM [UNIT (3)]

BASE_UOM_ISO [CHAR (3)]

ENTRY_UOM [UNIT (3)]

ENTRY_UOM_ISO [CHAR (3)]

CURRENCY [CUKY (5)]

CC_PH_INV [CHAR (1)]

REASON [NUMC (4)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 BAPI_PHYSINV_ITEM-CUSTOMER = KNA1-KUNNR 

0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 BAPI_PHYSINV_ITEM-VENDOR = LFA1-LIFNR 

0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 BAPI_PHYSINV_ITEM-MATERIAL = MARA-MATNR 
0..N

0..N

MARC

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

 BAPI_PHYSINV_ITEM-PLANT = MARC-WERKS 
0..N

0..N

MCHA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

CHARG [CHAR (10)]

 BAPI_PHYSINV_ITEM-BATCH = MCHA-CHARG 
0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 BAPI_PHYSINV_ITEM-STGE_LOC = T001L-LGORT 
0..N

0..N
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 BAPI_PHYSINV_ITEM-BASE_UOM = T006-MSEHI 

0..N
0..N  BAPI_PHYSINV_ITEM-ENTRY_UOM = T006-MSEHI 

0..N

0..N

T006I

CLIENT [CLNT (3)]

ISOCODE [CHAR (3)]

 BAPI_PHYSINV_ITEM-BASE_UOM_ISO = T006I-ISOCODE 

0..N

0..N

 BAPI_PHYSINV_ITEM-ENTRY_UOM_ISO = T006I-ISOCODE 
0..N

0..N

T064A

BSTAR [CHAR (1)]

 BAPI_PHYSINV_ITEM-STOCK_TYPE = T064A-BSTAR 

0..N

0..N

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 BAPI_PHYSINV_ITEM-SPEC_STOCK = T148-SOBKZ 

0..N

0..N

T157D

MANDT [CLNT (3)]

BWART [CHAR (3)]

GRUND [NUMC (4)]

 BAPI_PHYSINV_ITEM-REASON = T157D-GRUND 

0..N

0..N

T159C

MANDT [CLNT (3)]

WERKS [CHAR (4)]

ABCIN [CHAR (1)]

 BAPI_PHYSINV_ITEM-CC_PH_INV = T159C-ABCIN 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BAPI_PHYSINV_ITEM-CURRENCY = TCURC-WAERS 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 BAPI_PHYSINV_ITEM-SALES_ORD = VBUK-VBELN 

0..N

0..N


